12

PIDETSTG

Vi

NOTES: REVISION HISTORY nano-purification solutions limitedpgz
www.n-psl.couk y
Cable Identifier; REV. DESCRIPTION DATE | APPROVED //////
L Mains in / 3 Core / 075mm’ / 18AWG / -
- 4 £ NAND-PLRIFICATION SOLUTIINS LTD 2118
2 Exhoust Volve ‘& / 2 Core / 050me’ / 20MG / Fon Initiol Relense IDAZ/I8] D Scorer | b b1t MEs S0 o DU ML
3 Inlet Valve "' / 2 Core / 0.50mm’ / 20AWG / c-00 Draving Change [14/02/20] 0. Scorer | Pty i fes! e it SOt L
4, Inlet Vaolve 'B' / 2 Core / 0.50mm* / 20AWG / — Vet
S, Exhaust Valve 'B' / 2 Care / 050nn® / 20AWG / RIAL: /A KO N/A
6 Equalisation Valve / 2 Core / 050mm® / 20AWG /
7. Inlet Pressure Transducer / MI2 x 4 Pin Connector
8 N2 Outlet Valve / 2 Care / 050nm® / 20AWG / FINISH: N/A
9 N2 Vent Valve / 2 Core / 050mn’ / 20AWG /
10, Outlet Pressure Transducer / MI2 x 4 Pin Connector TITLE:
1. HMI Power / 3 Core / 0.75mm* / 18AWG / ! [
12, N2 Dutlet Oxygen Analyser Valve / 2 Core / 050mm® / 20AWG / GENE ‘4‘0 COMtPOHQP \A/H/\mg
13, PDES Oxyegn Analyser Valve (PTIONAL) / 2 Core / 050mn® / 20AWG / -
14, N2 Outlet Dxygen Analyser / M2 x 8 Pin Connector IRAVN CHECKED APPROVED we N 98-100-0250 REVISION:
15, PDES Oxygen Analyser (OPTIONAL) / M12 x 8 Pin Connector
NAre D Scorer .@ SHEET [SHEET SIZE
‘ SCALE - N/ =
All cable/wire must ke UL/CSA approved, DATE 10/12/18 LOF 2
1 2 3 4 7 8 9 10 1 12




1 2 3 4 S 6 7 8 9 10 1 12
A
11 B
°
SINGLE o 9,
FERRULE ES > C
<=
W
___ | Fmm™
P == -
LI I I
MY TR
® =7 y
i 1
W | | |
| L b=
£ [ [
£ 'I:I_ 'I:I‘ I
@ AN
i Wy
I I £
A Mo
>
T : < :
o o | I
I I
) |t
>, A r
.<. t<.
[} o
HE HE
= ! .
I 1!
W lJ
H
1
1 -
el J
-
~
¢f g
3
3 —
Q 3 K
. @ -l e
< 3 =
N, 3 =
%, o L
%
I’
L
M
i)
N
INSULATED
PUSH-ON
0
NOTES: REVISION HISTORY nano-purification solutions Umited
Cable Identifler) REV, DESCRIPTION naTE | apPROVED wwwm*pg\‘co‘uk
1 Mains in / 3 Core / 075mm’ / 18AWG /
- 4 NAND-PLRIFICATION SOLUTIENS L1D 2118
2 Exhoust Volve ‘& / 2 Core / 050me’ / 20MG / Fon Initiol Relense IDAZ/I8] D Scorer | b b1t MEs S b e aion DU ML
3 Irlet Volve "' / 2 Core / 050mn® / 20AWG / =00 Drawing Change 4/02/20] 0. Scorer | ALY iR Ralks! T e PURFATON ST L o D
4, Inlet Vaolve 'B' / 2 Core / 0.50mm* / 20AWG / — Vet |
S Exhaust Valve ‘B / 2 Care / 050mm* / 20AVG / RIAL: /A KO N/A
6, Equalisation Valve / 2 Core / 050mm® / 20AWG /
7 Inlet Pressure Transducer / MI2 x 4 Pin Connector 0
8 N2 Outlet Valve / 2 Care / 050nm® / 20AWG / FINISH: N/A
9 N2 Vent Valve / 2 Core / 050mn’ / 20AWG /
10, Outlet Pressure Transducer / MI2 x 4 Pin Connector TITLE:
1. HMI Power / 3 Core / 0.75mm* / 18AWG / ! [ —
12, N2 Dutlet Oxygen Analyser Valve / 2 Core / 050mm® / 20AWG / GENE ‘4‘0 COW‘tV\O“@V\ \A/H/\mg
13, PDES Oxyegn Analyser Valve (PTIONAL) / 2 Core / 050mn® / 20AWG / -
14, N2 Outlet Dxygen Analyser / M2 x 8 Pin Connector DRAVN CHECKED APPROVED we N 98-100-0250 REVISION: 000 Q
15, PDES Oxygen Analyser (OPTIONAL) / M12 x 8 Pin Connector
NAYE 0 Scorer SHEET [SHEET SIZE
All cable/wire must ke UL/CSA approved, DATE 10/12/18 SCALE - N/A 'G‘ o0 2 |
1 2 3 4 S 7 8 9 10 1 12




